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a, b, ¢, dEEKL L, #HFEHz wiz=atbi, w=c+di 7%,
g
ztw=((@+b)+(c+d)y=(a+c)+b+di=(@a+c)—(b+d)i
z+w=@+b)+(c+d)=a—-bi+c—di=(a+c)—(b+d)i
XoT z+w=z+w

end:: Y
z—w=(a+b)—(c+d)y=(a—-c)+(b-di=(a—c)—(b—d)i
z—w=(a+b)—(c+d)=a—-bi—(c—di)=(a—c)— (b—d)i

foT z=w=z-w

REEA( 3]
zw = (a + bt)(c + dt) = ac + adi + bct + bdi? = (ac — bd) + (ad + bc)t = (ac — bd) — (ad + bc)i
Zzw = (a+ bt) (c+dv) = (a—bi)(c—di) = ac — adi — bci + bdi? = (ac — bd) — (ad + bc)i

XoT zw=zZw

RERA 4]

(3_) B (a + bl) _(a+b)(c—di) ac—adi+ba—bdi> (ac+ bd)—(ad — bc)

w c+di) (c+d)(c—d) c? —d2i? c?+d?
_(ac+bd) + (ad — bo)i
B c?+d?
Z_a+bl_a—bi_(a—bi)(c+di)_ac+adi—bci—bdi2_(ac+bd)+(ad—bc)i
W c+di c—di (c—di(c+di) c2 — dz2i? B c2 + dz
7ZN\  Z

R[5
@=(@+h)=a-bi=a+bi=z
koT @)=z
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